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Problemsessions
EDGor EEG go

0 I
I Tore TF major

Ber
L FeBrs
EWG 40

op director gT
E m director

Br

ya
Etr isr Ff Br

T
O MOBr 40

f EEE's EEEortho melaBO para

EFFIE EISEN IEEE ortho

poor

EEE a is III
tones

I I
poor



EDG sub
sub 1st d EDGareopdirectorstsa

St St EDGECAs orthomajor

g EDG CHz para major
s

EDGE CHz ozeortho
blocked

para major

EWG
EWG are m directors

1 StSt 17 stories are not a factor
9 St T

subsub

when there is a competition between

two or more substituents the stronger

donating group directs
D Electronics Pt moredonating

stories 2nd



tar teaThe Ty Ti J Acheived

L Febres 42504 by
0
15 0 0 4 0 94 electronic

H OH

is Itd
17 stories

Febres 4
Br
9070

EDG EFG

T Ka T

L Alas Jao
ESG o.jp or ml

Scottzw
major

O

4
cite

fauna Eat
ga

IF a a a

Acid
Chlorid

Rode II if deo IEa
CL

anhydride



7oz

35 yBr
lHoz Hoz

d Brz
o EE

K 7 no t 7 no
TX major

cat
A
H H to0

A EDGIEST
EWG Neutral

TENo
9 Enloe to ENEH Br

i EEE
minor major

1 90 9
For 1St
Hd

EN zSt



I 1m02 Bra HzT A
FeBrz IT

4 Br

least majorstories
52.4

R

E i EE E's.no s

Hoz

Methyl Ethyl Isopropyl Tertbutyl

to
458.570 g

45 Iffy30 1715890
4.4 6.5 k 7.79 It II 5

37.2 48.5 623 72.7

if i 3
K 584 249,35

41.4

6.2
6.2

52.4 37 2 9 52.4 Major
70.95



44 4 ortho to
4 Smaller methyl

x x

t.io

ER't
R

dawn
Nat it

I Rode to

EF
I I
i.cl Cl

major



H o
I legBz HP B

TI
leqAIB.rs L

H p A o

TT EE I
L 3eqAlBz l why

it a

meta
director

as IF a

a EE s
a

meat ia



Is dad

EE ETAT E It's
a

Et es dyde
LY
Ce

i

Eia at Izu HEE



I d

Etd
Ha

As

For atom it Rots1 dil Itt

JETTE Ea

d II 4

EYE
eat

LDA

1 Hz 1

LE ft KII lU U



0
I 4 CHEPED3 1

Twitty 5
I Ran I 1
Ce Ce Ce

Phph
PETHph

o P
1 Ph

off I Heknelt a

1
ph
Pfl ph

cite P
H lo
a

Ry
PRD EE REPED

1,0 fPDs
R R R


